yd
//,./'
/"//l'
&
— ESRIRREREA 04
—. KB Series s
KB4 BER AL 06
KB_1E& (i®EEi=3710) 07
KB 268 (bEi=127100) 08
*[i7/1 COMPANY PROFILE "
BT EE =) 10
. . I KBR14 BE # 4 1
BABRARAN6E, B—SEBRED. WEER. FTLEEOTE, B8, HE. RER—EOSEEDNLR. ADREIRS ey — o o o o s
_ V¥R =
RE®ZE, POEEURERSHRACEFENZATH, WERHEEESM, TEERALERNEIEN,. NEENRNERIER. &K KBR 26 (itbki=257200) 75
=
HEMAERET ., F—ErEAIEENERBIR. ERISRhEFRERNEEANERRAMEENES. ﬁéﬁﬂ‘]iﬁ?ﬁ »
AR EREEEN. BEERROBHRETFRR A EERE, BORERBSERAEIRRTEE, S E B E R R M. KD Series "
SRR EEFERNESREE ., (TREREH. BREREH, KBEK, AETEEREERE, ETRREREDKE. ARERUHR ’ R — 1
WRENERK, RERR. SHAEGEIN, RAENKEENERNEREESARTE, EREZERNRMEA. uzkE. TES kDR CEbEi=4™10) -
B, B, monf. EIERMRABIESFEHETERE, BRRRTEAN, EHEHNESHEES, TEELS. it KDFZH{ (b 1207100 5
KB OLRR. R M. WRF—RECBETEL T -BSRITHAY, mMARERNSCEFTRESE, WETR. ER. FHEBRE ERE S;ries &
ZHu, *
) KE #
RRAENE OEREE, BRIEQERMIES, FUSIEERAENEERGERARE, BATUEARIBE, =&, KHSutmn KETS:E?EE&(EI:E"SNW) zf
e 1=
Tiaf, REAUS. TERHFEOMIAO, NEMDEENRSEEORMIEE, FHATHEARRETRRL, BEHEHE, ok (i -
g A R, I TEMBEANREGES, BIAT MRS ASUMETEE A AR S EERIF. . KSSeries - 23
AR, B, W, RAROEE, BNMECENSRTE, RREBNR, WL, £, ATHENER, NRERN b »
DAGRERLERS L, ARRALR RN, REFRERS, HARKTE, AEGenNmEM. T _— _— _— _— o 25
" OBANG MOTOR WAS ESTABLISHED IN 2008, IS A COLLECTION OF MOTOR DRIVE. MICRO MOTOR, PRECISION GEAR REDUCER, RESEARCH AND KS_18 (&bLi=12"100) 2
" DEVELOPMENT, WANUFACTURING, SALES AND SERVICE IN THE INTEGRATION OF MECHANICAL AND ELECTRICAL AUTOMATION ENTERPRISES. . PL/PF Series 27
/ COMPANY HAS IN JIANGSU PROVINCE PRIVATE ENTERPRISE, SWALL AND MEDIUM-SIZED ENTERPRISES AND NATIONAL HIGH-TECH ENTERPRISE R 2 B R 28
P CERTIFICATE AND PATENT OF INVENTION, SUCH AS MOTOR MAGNETIC TILE STRUCTURE IS FIXED, THE PLANETARY GEAR REDUCER OF SEALING PL seriss MImEl
| STRUCTURE, BUILT IN CONTROLLER OF BRUSHLESS MOTOR, SINTERED NEODYMIUM IRON PENGCI RIGID ROTOR, UNIFICATION TO MODULUS OF PF series #;ﬂ!gg
STANDARD VALUE OF CYLINDRICAL WORM, NON BRUSH MOTOR STATOR AND A SHELL FIXED STRUCTURE OF UTILITY MODEL PATENT CERTIFICATE. 0
COMPANY BASED ON THE INTELLIGENT DESIGN OF CORE COMPONENTS, AUTOMATION EQUIPMENT MANUFACTURERS AND PROVIDERS, COMMITTED P J\« DHRZ!
TO THE INFINITE POSSIBILITY OF AUTOMATION APPLICATION, THROUGH INDEPENDENT RESEARCH AND DEVELOPMENT TEAM TO COOPERATE WITH //// DHI%RESR
INSTITUTES, COLLEGES AND UNIVERSITIES OF SCIENCE AND TECHNOLOGY DEVELOPMENT OF SMALL GEAR REDUCER, PLANETARY REDUCER, ///' DHEZAR 254t
BRUSHLESS DC MOTOR. SOLAR PHOTOVOLTAIC, PHOTOELECTRIC INDUSTRY DEDICATED REDUCER, ETC., IN THE INDUSTRY IN A LEADING LEVEL. //“/ . BEEE ..
COMPANY'S PRODUCTS WITH ITS UNIQUE DIFFERENTIATION, AND ENVIRONMENTAL PROTECTION, HIGH EFFICIENCY TO CREATE GREEN POWER, _///
BECOME THE DOMESTIC INSTEAD OF IMPORTED PRODUCTS AND FOREIGN BRANDS OF STRONG COMPETITORS, THE PRODUCTS ARE WIDELY USED IN # +. ARBELERR
ROBOTS, NUMERICAL CONTROL EQUIPMENT, MACHINE TOOLS, WEDICAL EQUIPMENT, OFFICE EQUIPMENT, MILITARY PRODUCTS AND CIVILIAN -

DOZENS OF INDUSTRIES, SUCH AS AUTOMATION, THROUGH THE IMPLEMENTATION OF MARKET INNOVATION, COMBINATION OF DIRECT SELLING
AND DISTRIBUTION BUSINESS MODEL, NOT ONLY IN SHANGHAI, BEIJING, TIANJIN, JIANGSU, GUANGDONG, HUBEI, SHANDONG AND OTHER .“/
FIRST-LINE AND SECOMD-LINE CITIES SET UP MORE THAN ONE HUNDRED MARKETING NETWORK, AND HAVE A DEEP COOPERATION WITH HDRLD
FAMOUS ENTERPRISES, SUCH AS FOXCONN, ASUS, SHENYANG MACHINE TOOL ENTERPRISES.

COMPANY IN LINE WITH TO THE IMPORT ASSEMELY PRODUCTION, THE IDEA OF REPLACING THE IMPORT PRODUCTS, AND CONSThNTLY THE
INTRODUCTION OF INTERNATIONAL ADVANCED PRODUCTION SET . ~

COMPANY WITH INNOVATION, EXCELLENCE, HARMONY AND WIN-WIN FOR THE CORE VALUES, TO BUILD ADVANCED EN[ERPR!SE GULTURE,
CONDENSES THE TEAM STRENGTH, BUILDING SOCIETY, ENTERPRISE AND EMPLOYEE BENEFIT COMMUNITY, TO SPEED_UP THE PACE OF
INDUSTRIAL TRANSFORMATION AND UPGRADING AND INTERNATIONAL DEVELOPMENT, IN ORDER TO ACHIEVE THE HOR/LD FIRST-CLASS BRAND,
BUILDING INTELLIGENT EUROPEAN NATIONS IN ONE HUNDRED, NATIONAL INDUSTRY, AND STRIVE TO GREAEE“ﬁREEN POWER.

e




& F
APPLICABLE INDUSTRIES

CNCHR/L AT, CNCHEN R, AmamIH, #MeAPOMRERER. SR, #
R BER, SBREBAET AR, GREMEEM N TRERER

GEMMEERA, RSMAL. SEEMAL, ATHE. B, B8, 8
BRI

EFMEA RARERE. BEEfEA. BRERRE. FEERHEFEE
BE BB .

CNC center processing machine,CNC indexing segmentation machinery,
Integrated processing machine,Drilling center machine and lathe, Milling
machines, Drilling machines, Boring machine, Sheeting machine for
metal forming machine, Punching machine pipe and wire processing
equipment forging equipment.

Textile machinery and packaging machinery, Food machinery,Shoe-
making machinery and Wood-working machine, Plastic machinery,
laser cutting and Laser welding machine.

Industrial Robot,Surface Treatment Equipments,Automated Warehousing
Equipment,Medical Rehabilitation Equipment,Semiconductor Equipment
and other precision automation equipment.



ZamtF Features

17 0 TEBREREHAMB—RERE, BAERAHERE.
RASENBBZERMNT, —XEXERMIER, BREERE,

T ARNEESERREENT, —BRE, REEEE,
= BN, wEERR.

KBS e HRVMERASHRAENE ATEBRRBEBERAEE, TEBEHH
; BMI, EBRANFEE, BB

i tH B BHBRTERE—BNRE, BRAUERBREGAEL.

HMNERELE  oeEBRRE, TERKEREAR. PEBERELS.

SEELE: RARKIE. SEREREE, THEEE. SHEN, BnHREEEE, BESt. EeETRELE
fursfl. MIETHENEE, BERHESRME SR EMRBERIRENEE.

AERPA_3



WA RERR A
MODEL |DENTIFICATION

JH#E# REDUCER

PL 80 -40

()

(8) - 750 T[]
®

® @ ® @ ©® @ ®
Q) BE ARG GEAR HEAD SERIES CODE:
PL—EIR REEM AT PL—ROUND MOUNTING FLANGE SERIES
PF—FT LS EE AT PF—SQUARE MOUNTING FLANGE SERIES
(2) Rkt ESE . 80 GEAR HEAD FRAME SIZE: 80
©OF 4 GEAR RATI0:
EBHR—3\4\5\6\7\810 SINGLE STAGE—34\5\6\7\810
LB\ 0V2\15\16\181\20\21124\25\28130\32\35\36\40\ 42\ 49\, TWO STAGES—9\10112\15\16118\20121124\251281301321,35\36\40\
50\56\60\64 42\A9\50\56\60\64
= 4h—60\631641,721,75\801841,90196\ 10011051108 THREE STAGES—60\63\6472175\80484190 \96\100\105\
112\ 1201125\126\1281140\144\ 147\ 150\ 160\ 168\ 175\, 108Y4112\,120\125\126\128\140\144\ 1471150\ 160\ 1681175\
18011961200\, 210\216\240\245\, 25012521256\ 280294\, 18011961200\, 210\,216\240\245\2501,252\256\280',294\320\ 360\
3201,3604400\4201\448\490\512 400\420\448\490\512
WEESE B ZHR (HE) fEmEP = EP2
REDUCER  STAGE  STANDARD TYPE LOWBACKLASH HIGH PRECISION
TYPE NO. @nssiay TYPE P1 TYPE P2
@ wE 1 1247ARC-MIN 1047ARC-MIN  54FARC-MIN
AMOUNT OF BACKLASH: PL/F40 2 1553 ARC-MIN 1259ARC-MIN  B4FARC-MIN
HithEh B T E A AR A0+ SHEFA{E. 3 1843 ARC-MIN 154FARC-MIN  124YARC-MIN
PRECISION (THE LOAD OF OUTPUT SHAFT IS +5% OF ~ ~
ALLOWABLE OUTPUT TORQUE) ikl BAPARGMIN TARCHN | SEARGHIN
PLFRD. | g 1253ARC-MIN B5YARC-MIN  543ARC-MIN
PL/F120
PL/E160 3 1553 ARC-MIN 1047ARC-MIN  B4FARC-MIN
(5) EAmER, INPUT SHAFT TYPE
S EEBUISNEX (MR (ERSEZEAARESTER, B S:OVERALL LOCKING (OMISSION) (REGARDLESS WHETHER THE
‘D" FHAER) MOTOR WITH KEYWAY CAN USE IT.BUT D CUT CAN’ T USE)
ST MEGHERIRANEY (MEIAEE S A ATIERM, (2 YD S1:LOCKING WITH LOCKING RING (REGARDLESS WHETHER THE
FRIEA) MOTOR WITH KEYWAY CAN USE IT.BUT D CUT CAN’ T USE)
S2: BRI (BB S2:LOCKING WITH KEYWAY (INPUT SHAFT WITH KEY)
K. 2 s K:WITH KEYWAY

A:HAbiEACR (FEELZACA R

A:OTHER TYPE (PLEASE CONTACT WITH US)

(&) ERAMRSEE M) APPLICABLE SERVO MOTOR POWER (W)
@) 1R MR & 7 MANUFAGTURER NAME OF SERVO MOTOR
{EBR FBIZ ALK MODEL OF SERVO MOTOR

#l 5% % Bl/Mode| Identification

KB

b

S1 P1 Motor

Educer type Specifications Speed reducition ratio Output shaft Backlash
KB: fia &5 040,060,090,115,142,180,220
e PO: BREEEM
: : 040,060,090,115,142,180,22 3~ e : i "
KeR: ELA I 060,090 0 3-200 Gircular shaft b1: MR iR R
- - : . Precision Backlash  Motor Label/Mode!
KD 042,064,090,110,140,200,255 4-91 S2: & it o
Key shaft P2; PRIERSPR
P2: Standard Backlash
KDR 042,064,090,110,140,200,255 4-91

AERPA_04



KB series

HIGH PRECISION
PLANETARY GEARBUXES




KB series — 157

,ﬁLmﬁﬁgﬂﬁ
1,140
50 1,700
22 60 160 330 660 1,200 2,000
20 50 150 310 600 1,100 1,800
19 50 140 300 550 1,100 1,800
17 45 120 260 500 1,000 1,600
EEREIBE T, Nm 10 14 40 100 20 450 900 1,500
12 20 55 130 208 342 750 1,140
16 19 50 140 20 543 1,050 1,700
20 19 50 140 20 542 1,050 1,700
g 25 2 60 160 330 650 1,200 2,000
35 19 50 140 300 550 1,100 1,800
40 17 50 140 330 542 1,020 1,700
50 2 55 160 330 650 1,200 2,000
70 19 50 120 300 550 1,100 1,800
100 14 40 100 20 450 900 1,500
MABLEE T,  Nm 1,2 37100 AT E
EEHNBE N, rpm 1.2 37100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
FASNEE N, rpm 1,2 37100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
ABRSHETA PO arcmin ; é:gu — — & g 2 2 2;
. = =
T ] e e e e e e e
A Nm/aremin 1,2 31100 3 ¥ 14 25 50 145 25
BEAEEN Fae N 1.2 37100 780 1,5% 3,250 6,700 9,400 14,500 30, 000
S B N 1.8 37100 350 630 1,300 3,000 4,000 6,200 14, 000
RS B N 1.2 37100 0 765 1,625 3,350 4,700 7,250 25,000
{FHRSE hr 1,2 31100 20,000 *
=97 %
e B g e S5
% 05 1.3 37 7.8 145 .4 48
EE ke ; 12”:?00 08 15 41 9 175 3 &
{EFRE C 1,2 37100 “10°C™90°C
G 1,2 37100 A RGEEHAE (NYOGEL792D)
FREE 1,2 37100 P65
BEF(E) 1,2 37100 Ea=va1C]
MBE{E (n=3000rpm)  dB 1,2 37100 <56 <58 <60 =63 <65 =67 <70
0 RiRsEshig s
3 0.16 0.61 9.21
4 am 0.14 0.48 zm 7.54 na mw
1 5 0.03 0.13 0.47 2.7 7.42 B2 53 27
6 0.03 0.13 0.45 2.6 7.25 275 51.72
7 0.03 0.13 0.45 2.62 7.14 248 50.97
8 0.03 0.13 0.44 2.58 7.07 2.5 50. 84
10 0.03 0.13 0.44 2.57 7.03 2. 51 50.56
HENERE J,  ke.om, 2 003 0.03 0.13 0.47 27 742 0
16 0.03 0.03 0.13 0.47 27 7.42 ..}
2 20 0.03 0.03 0.13 0.47 27 7.4 7
25 0.03 0.03 0.13 0.47 2.7 7.42 2.5
35 0.03 0.03 0.13 0.47 27 7.4 %5
40 0.03 0.03 0.13 0.47 27 7.42 24
50 0.03 0.03 0.13 0.47 27 7.42 yL]
70 0.03 0.03 0.13 0.44 2.57 7.03 2
100 0.03 0.03 0.13 0.44 257 7.03 19.5

* HAtEREEATIUER]

AERPA_06



KB it 5510

#j 3/ output B N3/ i nput

: ,_\%)
=

-

1

)

81,, L6 L5
H,
© B B
s 1o []
81 BTS2 | ooa, o,
[B8{I: mm]
r——
70 100 130 215
55 7 9 11 13 17
- 13 16 22 32 40 55 75
35 50 80 110 130 160 180
15 25 30 40 50 70 90
M4x0.7P M5x0.8P M8x1.25P M12x1.75P  M16x2P M20x2.5P M20x2.5P
42 60 90 115 142 180 220
L2 26 37 47.5 65 97 105 138
7 10 12 15 20 30
1.5 1.5 2 3 S S
25 25 40 65 70 90
2 4 5 5 6 T
6 8 10 12 15 20
125 19 28 36 42 42
70 90 130 165 215 235
M5x0.8P M6x1P M8x1.25P ~ M10x1.5P M12x1.75P M12x1.75P
£14/216 <19/=24 <32 <38 <48 <55
34 44 65.5 60 85 118
50 70/90 110 130 180 200
8 7 14 6 6 6
60 90 126 142 190 220
19 17 19.5 24 29 63
117 145 204.5 242 288 357
135 10.75 13 14 20.75 47
5 6 10 12 16 20
18 245 35 43 59 79.5

HEREAES]

AERPA_07



2E2—2STAGE

KB

FELE i=12~100
i i 4m/output B N3/ i nput

(5] cn___L_!_ _'c'a‘
iy I cio
=l
A i — b 'jﬁﬂ'
a — ?/E_LLE]—'

L4 L —24’

o L
il ST RS2
[EE{Z: mm]
T T
100 130 215

5.5 6.6 9 11 13 17

16 22 32 40 55 75
50 80 110 130 160 180

25 30 40 50 70 90

M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P

60 90 115 142 180 220
37 48 65 a7 105 138

i 10 12 15 20 30

1.5 1.5 2 3 3 3

E5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
10 12.5 19 28 36 42 42

46 46 70 100 130 165 200

M4x0.7P M4x0.7P M5x0.8P Mex1P M8x1.25P M10x1.5P M12x1.75P

=11 *=11/212  =14/s15875/s16  =19/=24 =32 =38 <48

25 25 34 40 50 60 82

30 50 90 110 110 130 180

a5 35 8 4 5 6 10

42 42 60 90 115 142 180

29.5 295 19 17 19.5 225 29

c9* 114 138.5 183.5 229 297 344 388
c1o* 8.75 8.75 13.5 10.75 13 15 30.5
Bl s 5 5 6 10 12 16 20
-H- 15 18 24.5 25 43 59 79.5

HERLATLE S

AERPA_08



KBR series

RIGHT ANGLEREDUCERS
PLANETARY GEARBOXES




LR S L B < AR 1) B B ) 7

REDUCER QUTPUT SHAFT OF THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE

= % '_
F!rﬂ —

1 SRR MR BAERARERS, SRNETE

| S| — .
E '—i S Bk REY, HRRHRFIAR T AR B BCATSREARE, R
!—4
l RSB AR R,

£, BN —
F. EhEH ._

(> BEFEEAF. IN] MATFHPOE

- AB
AR

AR220/ARRZ220

AB180/ABR1BO
E ABR142
ABR11E

AB0GO

 ABROSO
- ABOBO

ABROGO
AB0AZ/ABROAZ

40 &0 100 200

400 600 1000 2000

B1REANF,, AT OAIERX=1/2xLEF, TRIMBZBEEREREHLHREATERSSA
20, 000hr*ff, FTAEAZZARHRENFME, F2RB EE, MEEATZ BTG 0w, Bh.e=0. 26,

FZtZB;O' 1_XF2,5

ABDMZ /ABRIMZ
ABOEGO

ABROGO

ABIDO

ABROS0

AB1
AB1BO/ B0
AB220/ABR220

EEABESLE X [mm]

o 40 80 120 160 200 240 280 320 360 400

BRENF, BHRESG IR, SERRBE X<1/2xL, FEERSZAFEENELR, SRk
RSB > 1/2xLB%, FREERT 2 BHFRMARE N, BEE, KAESRREERARHLEX, &=
BB RRRHK,, BRATIAR, KUBHESEN: Fo=Kb x Fq, BIES: Fyu=0. 2xF;,

P SOV KBl 0

AERPA_10



KBR series

LR MRS
e |85 R | KeROR KBR115 | KBR142 | KBR18O | KBR220
3 20 342 750 1,140
4 19 542 1,050 1,700
5 22 aa 16] 330 &0 1,200 2,000
1 6 2 55 140 300 550 1,100 1,800
7 19 50 140 300 550 1,100 1,800
8 17 45 120 260 500 1,000 1,600
10 14 40 100 20 450 900 1,500
12 55 120 208 550 1,000 1,600
16 45 120 260 550 1,000 1,600
FEEHHIE T, Nm 20 - 40 100 230 450 900 1,500
12 20
16 19
20 19
9 25 2 60 160 330 650 750 2,000
30 55 130 208 M2 1,050 1,140
35 19 50 140 300 550 1,050 1,800
40 17 50 140 20 542 1,200 1,700
50 2 55 160 330 650 1,100 1,500
&0 55 140 300 550 1,020 1,800
70 19 50 140 300 550 1,200 1,800
80 45 120 260 500 1,100 1,600
100 14 40 100 230 450 900 1,500
SAEHET,  Nm 1,2 37200 SfEREEH I
FeltEsE N, rpm 1,2 37200 5,000 5,000 4,000 4,000 3,000 3,000 2,000
RAHHEEE N, rpm 1,2 37200 10,000 10,000 8,000 8,000 6,000 6,000 4,000
; 1 0 = = =2 =2 =2 =2 =2
BEERIR PO aromin 257200 - - <4 <4 <4 <4 <4
v 1 3N =4 =4 =4 = =4 =4 =4
@Rl P aromin 257200 <7 <7 <7 <7 <7 <7 <7
3 1 3 =6 =6 =6 =56 =6 =6 =4
TREEBR P2 aromin 25720 = <9 <9 <9 <9 <9 <9
THEEREIE Nm/arcmin 1,2 37200 3 7 14 25 50 145 25
BEHEE e N 1,2 37200 780 1,53 3,250 6,700 9,400 14, 500 50, 000
BehE I By N 1,2 37200 350 630 1,300 3,000 4,000 6,200 35, 000
AEEh e N 1,2 37200 0 765 1,625 3,350 4,700 7,250 25,000
i hr 1,2 37200 20,000 *
1 ¥ ol
ﬂg % 2 25720 =0y
1 3 09 21 64 13 4.5 ] 8
£ ke 2 257200 1.2 1.5 7.8 14.2 775 5 %
{EFRE b(e 1,2 37200 -10'c™90°C
e 1,2 37200 ASREEEHAE (NYOGEL792D)
o= 1,2 37200 1P65
S E 1,2 37200 £
Bl (n=3000rpm)  dB 1,2 37200 <61 <63 <t <68 <70 <7 <74
BRI EhE &
52 oo oo | o s | e | | o
3710 0.09 225 69 61
1 14 1.87 236?
20 o 07 1.87 625 21 s B2 53 27
WENRE S, kg on’ 2 - 1.87 425 _ B2 53.27
2 20 0.09
257100 0.09 0.09 0.3 2.25 684 2.4 89
1207200 0.31 1.87 625 21.8 &6.6

* B fREE AT AR

AERPA_11



KBR s 5520

#j 3/ output B N3/ i nput

)

[st:]

: 10
/' —\-\\ ll /LIJ
7 x| fo
i 1
| |D8
203, 203,

i1 Hfifiy 52
(EfZ: mm]
KBROBO KBR115 | KBR142 | KBRI80
70 100 130 165 215 250
55 6.6 9 11 13 17
13 16 22 32 40 55 75
35 50 80 110 130 160 180
22 45 65 95 75 95 115
M4xO.7P  M5x0.8P  M8x1.25P M12x1.75P M16x2P  M20x2.5P M20x2.5P
56 80 116 152 186 240 292
L1 42 60 90 115 142 180 220
12 26 37 48 65 97 105 138
L3 55 7 10 12 15 20 30
L4 1 15 15 2 3 3 3
L5 16 25 32 40 63 70 90
2 2 3 5 5 6 7
4 6 8 10 12 15 20
1115 145 203 259 333 394 484
45 48 7.2 10 12 15 15
10 125 19 28 36 42 42
46 70 100 130 165 215 235
M4x0.7P  M5x0.8P  M6x1P  M8x125P M10x1.5P M12x1.75P M12x1.75P
<11 <14/516  <19/<24 <32 <38 <48 <55
25 30 40 50 60 85 116
30 50 70/90 110 130 180 200
55 8 4 5 6 6 6
42 60 90 115 142 190 220
295 19 17 195 225 29 63
90.5 111.5 1525 191.5 2355 3035 3785
8.75 135 10.75 13 15 20.75 53
5 6 10 12 16 20
18 245 35 43 59 795

3.C1~C10& ‘ﬁlﬁﬁﬁﬁﬁﬁﬁfi'ﬁ HYIRREFRAOFRERR T EE.

AERPA_12



2Ex—2STAGE
WIELE i=25~200

KBR

i i/ /output

204,
205

63

RS

i\ um/ input

ghzts2

W
sl
g

_@EIS ‘.|

[B{i: mm]

R e R e

100 130 215
55 6.6 9 11 13 17
13 16 22 32 40 55 75
35 50 80 110 130 160 180
22 45 65 95 75 95 115
M4x0.7P  M5x0.8P M8x1.25P M12x1.75P  M16x2P M20x2.5P M20x2.5P
56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 15 1.5 2 3 S S
25 32 40 63 70 90
2 3 9 5 6 7
6 8 10 12 15 20
163.5 212.5 289.5 365 431 521
438 7.2 10 12 15 15
12.5 19 28 36 42 42
46 70 100 130 165 215
M4x0.7P M5x0.8P Méx1P M8x1.25P M10x1.5P M12x1.75P
=11/512  =1as15875/s16 19/=24 =32 =38 =48
25 34 40 50 60 82
50 90 110 110 130 180
35 8 4 5 6 6
42 60 90 115 142 190
29.5 19 17 19.5 225 29
99.5 126.5 165 205 254.5 3235
8.75 135 10.75 13 15 20.75
5 6 10 12 16 20
18 24.5 35 43 59 79.5

4C1~C102

AFREREERART, BYREEFRANFARERRTEE.

AERPA_13



HIEEAER

THE SELECTION OF REDUCER

SRR
s5 | s1
EE R
ED<60
Y ey,
r (Eq.1) —[
AR (Eq.2) AL (Eq.2)
! }
HUBARAETOME SRR
Tn (EQ:3) Tan (Eq:3)
|
EE T P
T (E4)
|
ki N0 DT TaiTa MO, mAARIES
LN

s |
SR TSNS N B YES
AR HEE Ny (EG.5)

l

e R AR Ry
(FwemEERE)

YES
+

SRR TR EEm A Fy,,
HiENF,., (Eq-6)
!
AR EATR > TEEA F,, .
BRI, ME Fos* Fae ( FHEMHIHE )

(™
*

fmfae  NO. mmmocmam

Foiths
v?a
ST RS R st
!
SEERR
SoiAHE  BiEEIE
—fRERERATSUTAR:
% =4xd,
RBENERESANTAUTAR:
Sy,
|
Jo BHiESE
J, BIRIRE

AERPA_14

iR

Fard* Fasd

L) ]

N2a " Nag

Nzp

[a-l- +
1,ED=—t;9HeJ—x1OU%‘lwm=t.+l=+td
TERE: a MiE c &,
d. jiE, p. ik (Eq.1)

2.i= _nm_
Myork

N MigH
Myork BIRHE R (Eq.2)

3
N To, XX T, g X Tog
R

n‘znxta+n2cxtc+n2dxtﬂ
(Eq.3)
4. Tomax = Tra* I %K%
K, RN
K, MR
1.0 0~ 1,000
14 1,000 ~ 1,500
1.3 1,500 ~ 2,000
16 2,000 ~ 3,000
1.8 3,000 ~ 5,000
Tre BiZSCHHEIE
N REEREEL R (Eq.4)
5.ng, =Nyy ="l‘" Nze
= n?u‘le*'nic‘tc-"nzdxtd
™ LT
Nay = —11'& {Eq.5)

Mg Xt F2r|3 #ng %l % Fzr:i- g%t ™ ng
6. Fom= N Xl FNgcxl 4ty

3 3 3

J Nga Xt XFass Xt XF a0 +NpeXt X Foug
Foun=3 xt_+n. %L+, %

2am Mg Xty Xt g <ty (Eq.6)



KD series

HIGH PRECISION
PLANETARY GEARBUXES




KD series

QiR eS8«
48 1 100 1,700
5 &0 2,000
7 19 50 140 an axl 1100 1,800
1 10 14 40 100 230 450 900 1,500
20 19 48 130 270 540 1,100 1,700
25 2 &0 160 30 50 1,200 2,000
35 19 50 140 300 550 1,100 1,800
40 19 48 130 270 560 1,100 1,700
50 2 é0 160 330 &0 1,200 2,000
e 1 N 70 19 50 140 300 550 1,100 1,800
HtiBE T N 100 14 40 100 20 450 900 1,500
16 19 48 130 270 560 1,100 1,700
2 2 &0 140 330 50 1,200 2,000
2 31 19 50 140 300 550 1,100 1,800
61 19 50 140 300 550 1,100 1,800
91 14 40 100 230 40 900 1,500
BAHIL/HET, Nm 1.2 47100 SfEEEEHIL
FEEHILEEE N, rpm 1,2 £100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
BAWHIHE N, rpm 1,2 47100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
. ™ = = = = = = =
FBREEEEPH PO arcmin ; ,;.;& = = = 5; QT QT 4;1;
3 . 1 410 = =3 =3 =3 =3 =3 =3
REHER P aromin ) 27100 <5 <5 <5 <5 <5 <5 <5
5 1 4710 =5 =5 =5 =5 =5 =5 =5
IR P2 aremin 20710 <7 =7 <7 <7 <7 <7 <7
FHESEIE  Nm/arcmin 1,2 £100 7 13 31 82 151 440 1,006
BAEH e Nm 12 4100 2.5 125 25 430 1,300 3,064 5,900
BHEMENFs N 1,2 4100 1,000 2110 2,310 4,800 6,200 5,450 10, 600
{FREs hr 1,2 4100 30,000 *
1 410 =97 %
W " 2 207100 =% %
B kg 1 410 0.7 1.2 30 56 1.9 3.6 561
2 207100 1.0 16 3V 7.3 159 kB9 0.4
16791 1.0 1.4 35 45 155 M2 612
fERiRE e 1,2 47100 —0°C™490°C
e 1,2 47100 ARGEEHAE (NYOGEL792D)
Pras il 1.2 4100 IPs5
L) 1,2 4100 £=AE
MEE{E (ny=3000rpm)  dB 1,2 4100 <56 <58 =) <63 < <67 =70

o o ‘;"* 1
Lol -- KDI15 | KD142 | KD200 | KD255

4 003 014 0.51
1 5 0.03 0.13 0.47 2329
i 0.03 0.13 0.45 262 7 14 22. 48 50 97
PENMRE J,  keoom 10 0.0 013 0.4 257 7.08 2 51 50.56
20 0.03 0.03 0.13 0.47 27 7.42 2329
25 0.03 0.03 0.13 0.47 27 7.42 2329
35 0.03 0.03 0.13 0.47 27 7.42 2229
40 0.03 0.03 0.13 0.44 Z9F 7.03 2.5
50 0.03 0.03 0.13 0.44 257 7.03 2.5
2 70 0.03 0.03 0.13 0.44 257 7.03 25
100 0.03 0.03 0.13 044 257 7.03 22 51
16 0.03 0.03 013 0.47 27 7.42 2329
21 0.03 0.03 0.13 0.47 20 7.42 23229
AN 0.03 0.03 0.13 0.44 257 7.03 2.5
61 0.03 0.03 0.13 0.44 2.57 7.03 2.51
N 0.03 0.03 0.13 0.44 257 7.03 25
1. 5L Ci=Nin Newt ) 2 SRS, (R EEhR S,

* EEEHRERRS —nZ—

AERPA_16



KD smcimaio

V] L L [#]
Rl L8f AP p—1|
Li0u45"

_Iam-

ons
A0y
a0z
ac3
Dolm
am

EEERRER
i |
L ==
S \a .
g 8 :
[EfZ: mm]
TR e o | om 1
Dlyr 12 20 315 40 50 80 100
D2 20 315 50 63 80 125 140
D37 28 40 63 80 100 160 180
47 64 90 110 140 200 255
67 79 109 135 168 233 280
4xM3x0.5P 7xM5x0.8P  7xM6x1P 11xMBx1P 11xM8x1.25P 11xM10x1.5P 12xM16x2P
72 86 118 145 179 247 300
3 5 6 6 8 10 12
455 55 rid 90 113 138 175
8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
60 70 95 120 152 212 255
46.2 63.2 89.2 109.2 139.2 199.2 254.2
4 8 12 12 12 16 20
6.5 8 135 13.5 17 225 30.5
. 3 3 6 6 6 8 12
19.5 19.5 30 29 38 50 66
7 7 10 10 14.6 15 20
4 4 7 8 10 12 18
) Tl 8 10 12 15 20
18.5 28.5 27 37 62 69.5 82
4 6 7 i i 10 10
05 0.5 1 1 1 1 1
46 70 100 130 165 215 235
M4x0.7P M5x0.8P M6x1P M8x1.25P  M10x1.5P M12x1.75P M12x1.75P
=11 *<14/<16 <19/=24 <32 =38 =48 =55
30 34 40 50 60 85 116
30 50 70/90 110 130 180 200
35 8 4 5 6 6 6
48 60 90 115 142 190 220
19.5 19 17 19.5 225 29 63
70 82 98.5 126 156 199.5 256.5
13.25 13.5 10.75 13 15 20,75 535
56x2 66x2 90x3 110x3 145x3 200x5 238x5

*C~CI0EAHRFEERSERERR, BMRETFEMANAREMRRTEE.
TD064 5, 10 LRI C3< 16T,

AERPA_17



KD 2Fx—2STAGE
IR i=20~100

o

el Liuag®

Qo7
aps
1
@mnr
A
abwur
™I
A=
= e
Lam
i
v 1|
B 66
011y

; _I
o
| |
I =
=
k

aengipn ] Egm & all
[EfZ: mm]
I o5 | o | o | koms
Dlur 12 20 315 40 50 80 100
D2 20 31.5 50 63 80 125 140
28 40 63 80 100 160 180
7 47 64 90 110 140 200 255
67 79 109 135 168 233 280
4xM3x0.5P 7xM5x0.8P  7xM6x1P  11xM6x1P 11xM8x1.25P11xM10x1.5P 12xM16x2P
72 86 118 145 179 247 300
3 5 6 6 8 10 12
45.5 455 53.4 77 102 125 160
8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
60 70 95 120 152 212 255
46.2 63.2 89.2 109.2 139.2 109.2 2542
4 8 12 12 12 16 20
6.5 8 135 135 17 225 30.5
i9iE 3 3 6 6 6 8 12
19.5 19.5 30 29 38 50 66
7 7 10 10 146 15 20
4 4 7 8 10 12 18
<) 7.7 8 10 12 15 20
545 65 60 875 110 1325 148
L9 4 6 7 7 7 10 10
05 0.5 1 1 1 1 1
46 46 70 100 130 165 200
M4x0.7P  M4x0.7P M5x0.8P Méx1P M8x1.256P  M10x1.5P M12x1.75P
=1 "<11/s12 -<14/<15.875/<16 <19/<24 <32 =38 <48
30 30 34 40 50 60 85
30 50 90 110 110 130 180
35 a5 8 4 5 6 6
48 48 60 90 115 142 190
19.5 19.5 19 17 19.5 225 29
97.5 107.5 139 163.5 211.5 255 311.5
13.25 13.25 135 10.75 13 15 20.75
56x2 66x2 90x3 110x3 145x3 200x5 238x5

*O~COEAHFFEERSEFER Y, BYRETFERNARERRTEE.

AERPA_18



KE series

HIGH PRECISION
PLANETARY GEARBUXES




KE series

DRIRMM RS HE
i | L KE115 KE155 KE205 | KE235

Specifications | Reduction ratio

3 45 80 160 550 915
4 40 100 20 435 790 1,400
5 45 115 260 530 910 1,700
1 6 44 105 240 410 830 1,550
7 40 105 235 410 830 1,550
8 40 100 220 400 830 1,290
- ! 10 30 80 190 30 o 1,200
FEHHIE T Nm g 31 80 190 350 720 1,250
12 45 80 160 275 560 915
16 40 100 220 435 0 1,400
20 45 115 260 530 910 1,700
25 45 115 260 530 910 1,700
2 35 40 105 235 40 830 1,550
40 40 100 20 435 70 1,400
50 45 115 260 530 910 1,700
70 40 105 235 410 830 1,550
100 . 80 190 350 710 1,200
BAWMEDET:  Nm 12 37100 SfEFEER S
SEEMANEEN, rpm 1,2 37100 4,000
SAENEE N, rpm 1,2 37100 8,000
g, - . 1 10 = = =2 =2 =2 =2
M arcmin 5 100 _ _ - - - -
ﬁﬁﬁﬁﬁ \ 1 310 =3 =3 =3 =3 =3 =3
bl aronin 2 127100 =5 =5 =5 =5 =5 =5
N . 1 k1] =5 =5 =5 =5 =5 =5
HOMGIR P2 aromin 1710 < < <7 <7 <7 <
RIS No/arcmin 1,2 3700 35 10.5 20 ? 115 180
WAEE Fae N 1.2 3100 1,100 2,200 5,025 7,610 10, 900 24,000
BAHEIES Fope N ; 37100 630 1,230 2,550 3,780 5,875 11,200
Edi=tn) hr 1,2 37100 20, 000 *
1 310 =97 %
M % 2 127100 =04 %
k 1 310 1.3 39 87 16 K1l 48
ﬂ ¥ 2 127100 1.8 4.6 10 20 ¥ G2
{ERERE c 1,2 37100 “0C™90°C
b 1.3 37100 SRiEEHAs (NYOGEL 7¢2D)
= 1.2 37100 IP65
LR 12 37100 F=AE
Sl (=3000rpm) B 1,2 3100 <58 =63 <66 <68 <70 <N
[ BiR g aEnE R
KE155 KE205 '| KE235
3710 0.8 1.3 4.8 14.5 Q9 80
EENRE J, kg.cm® : =
2 127100 0.18 0.7 0.7 14.5 13 18

* BLAiREL AT LER!

AERPA_20



1E—1STAGE

KE

TR EE i=3~10
3%/ output IR/ input
o - c2
1 6 L4
- s
] e
c4 15| L2
K - c7
o |z
6
1
o0, _
st Wz o g
I T = = = R
D1 62 80 108 140 184 210
D2 4-M5 10 4-M5%12 4-MBix 16 4-M10%20 4-M12i%24 4-M16#30
| 16 22 32 40 55 75
52 68 90 120 160 180
M5%12 M8i%&20 M12i%28 M16iR32 M20i%40 M20i%42
B 46 70 97 100 126
¥ 8 19 15 15 18
2 3 5 5 6 7
k2 15 / 21 275 30 /
L6 25 32 40 65 70 90
L7 | 122 154 189.5 260.5 282 357
Pk 70 90 145 145 200 235
' 4-M5iF 15 4-M6iF 15 4-M8iF 24 4-M8iF 24 4-M12i%36 4-M12iR25
14 19 24 30 35 48
37 50 59 78.5 82 118
50 70 110 110 114.3 200
285 36.5 50 79 82 105
60 90 130 130 180 220
10 10 10 10 7 10
70 / 120 / ! 235
80 116 165 165 240 135
18 245 35 43 59 79.5
5 6 10 12 16 20

1. ~CI0EAHREREEZRA T, BYRBEFRANABERRTEE,

2 MR AR A,

AERPA_21



2E2—2STAGE

KE

L i=12~100
i i/ /output i\ um/ input
5 c2
6 L4
1tttk
| CB
L5 L2
=t c7
Bl
- o
|
e El;RKE070—E&
B 52 (84e: mm]
KEO7TO | KEOS0 | KE115 | KEIS KE205 KE235
62 80 108 140 184 210
4-M5iR10 4M5%12  4-M8F16  4-M10F20  4-M12iR24  4-M16iR30
16 22 32 40 55 75
52 68 90 120 160 180
M5i%12 M8iR20 M12i%28 M16iR32 M20iR40 M20iR42
37 46 70 97 100 126
7 8 19 15 15 !
2 3 5 5 6 7
15 / 21 275 30 /
25 32 40 65 70 90
151 184 2175 260.5 3355 388
70 90 130 145 200 200
4-M5F15 4-M5FR15  4-M8IR24  4-MBR24  4-MI12iR36  4-M12iR25
14 19 19 30 35 35
37 49 57 785 83 82
50 70 95 110 1143 1143
285 36.5 50 79 82 105
60 90 110 130 180 180
10 10 8 10 10 10
70 / 120 / / 235
80 116 148 165 240 117.5
18 245 35 43 59 79.5
5 6 10 12 16 20

1.C~CI0RAFIFREREEIEIE R, BYRBEFEANFARERRTEE,

2 RT U AR A A,
AERPA_22



KS series

HIGH PRECISION
PLANETARY GEARBUXES




KS series

DIRRM RES HR

Specfications

EEGEDE T Nm

RAMUHIHET,  Nm
Eﬁﬁﬁ)\ﬁiﬁ Ny rpm
WABNBE N, rpm

Bl PO arcmin

B P1 arcmin
ZESEE P2 arcmin
R Nm/aremin
BATEEN P N
BAEHEN Foge N
fERSa hr
A %
B8 kg
EHEE ]
e
DT =
REET5[6)

MEEE (m=3000rpm)  dB

B B

Segments

1,2
1:2
1.2

R | s

1,2
1,2
1,2

[ TR 5 T

15
1,2
1,2
12
1.2

SRk

Reduction ratio

éégaﬁmaaﬁﬂ-amw o 0B oW

37100
31100
37100
710
127100
310
127100
310
127100
37100
37100
37100
37100

310
127100

310
127100
37100
37100
37100
37100
37100

KS060

885558568628 885Rr586

VI

A
L,

@
13

1,100

8

1.3
1.8

g 10 2 550 N5
70 1,400

100 220 435
115 260 530 910 1,700
105 240 410 830 1,550
105 235 410 830 1,550
100 220 400 830 1,290
80 190 0 710 1,200
80 190 B0 70 1,250
80 160 275 550 915
100 220 435 790 1,400
115 260 530 910 1,700
115 260 530 910 1,700
105 235 410 830 1,550
100 220 435 790 1,400
115 260 530 910 1,700
105 235 410 830 1,550
80 190 350 710 1,200
SfEEREHEIH 7B
4,000
8,000
- =7 =7 =7 =2
- =4 =4 =4 =4
=3 =3 =3 =3 =3
=5 =5 =5 =5 =5
=5 =5 =5 =5 =5
=7 =7 =7 =7 =7
10.5 20 39 115 180
2,200 5,025 7,610 10,900 24, 000
1,230 2,550 3,780 5,875 11,200
20,000 *
=97 %
=04 %
39 87 16 1| 48
4.6 10 20 » &2
-10'C™90°C
ERCEEERE (NYOGEL792D)
IP&5
EEAME
=60 =63 =65 =67 =70

o RRAEEENIRE

%
Specifications
HEMEE Ji keg.om'
* B AR AT LAES)

AERPA_24

B

Segments

1
2

=EE

Speed Ratio

3710

127100

0.18

0.7

028 1.3 35 13 130

10.5
0.7 35 9.5 30



KS s 30

& 3%/ output

[}

Ciea

st

&6 A\ / input

= u
| —
_'—____E w B
S A i e N o = —- s8] &
R A = = =
| -
|
o8 |
c4
co
mn
==
T
ml
i s2

ERKS060 8
[B{i: mm]

4¢55 4¢66 4-¢9 4¢11 4¢135 4-417
16 22 32 40 55 75
50 80 110 130 160 180
675 / / / / /
M53R12 M8R20 M12328  M16§36  M20iF40  M20iR56
80 116 152 185 240 202
60 90 115 142 180 220
12 37 48 65 97 105 138
13 7 10 12 15 20 30
4 2 5 5 6 #
L5 5 10 12 15 20
25 / 40 65 70 90
70 90 115 145 145 235
AMARIS  4MSRI5S  AMBIR24  4M8F22  4-M8R22  4MI2R24
14 19 19 24 35 55
37 50 505 785 82 118
50 70 95 110 110 200
10 10 10 10 7 12
285 365 50 79 82 105
245 / / / / /
122 154 196.5 260.5 282 353
80 116 150 165 240 280
60 90 115 130 180 220
5 6 10 12 16 20
18 245 35 43 59 795

1.C~CI0RAFIHRES EEIERR T, BYRBEFEANAREHRTEE.

MRS AR R A #E,

AERPA_25



KS 2E2—2STAGE
HREE i=12~100

% /output . L SIS/ input
o2
Wi ===
|~ —HF
T e i i LV
K
o6 | cr
c4 L2
L1 & L L -
. i
X
woa, @oa,
S W2 ERKS060 =K
[BfI: mm]
70 100 130 165 215 250
4-¢5.5 4-¢6.6 4-¢9 4-¢11 4-¢135 4-p17
16 22 32 40 (55 75
50 80 110 130 160 180
/ / / / / /
M5i%12 M8i®20 M12i§28 M16i%36 M20i%40 M20i%56
80 116 152 185 240 292
60 90 115 142 180 220
37 48 65 97 105 138
7 10 12 15 20 30
5] o 6 if:
6 8 10 12 15 20
25 32 40 65 70 90
70 90 115 145 145 235
4-M5%15 4-M6BiR 15 4-MBiR24 4-M8iF 22 4-M8iF22 4-M12ig35
14 19 19 28 24 42
37 495 56.5 74 76.5 87
50 70 95 110 110 200
10 12 10 10 7 10
28.5 36.5 50 79 82 105
! ! ! / 1 !
151 184 224 300 329 403.5
80 116 130 165 165 275
60 90 100 130 130 210
5 6 10 12 16 20
18 245 35 43 59 79.5
1.C~CI0ZATIRERIEEERR T, BYREEFFERNAREHRRTEE,
2 RST IR AR A

AERPA_26



PF/PL series

HIGH PRECISION
PLANETARY GEARBONES




LR P L 8 < A AT (o) R B 51

REDUCER QUTPLT SHAFT OF THE PERMISSIBLE RADVAL FORCE AND SHAFT AND AXIAL FORCE

- PLO40

o | PLO6O

= | mwwo
= L 1

i © PL/PF120

PLIGO

: .:§\ ; '{j:.:
NSRS -

0 40 80 120 160 200 240 280 320
B (5] 7R B X [Imm]

FxiE[E
Falifi B

IR HETRERZE 2R R E@ D RE @, s
1R AR I AR Z "R T

";é"'l‘-tF?@rﬁlj]FZrB[N] Fiﬁﬂ?iﬁqﬂft\{ﬁﬁ

10, 000
6, 000
4,000
2, 000 — PL/PF120
1, 000 — PL/PF120
- PL/PF080
Dt PL/PF090
+—— PL/PF060
100 PL/PF040

10 20 40 60 100 200 400 600 1,000 2,000
B HEE N2[rpm]

BUR AR FE HERER T,
, LE.

AERPA_28



PL series — iZH#R

LRIR M RE S B R
R‘Lductron ratio --
3 3? 43
4 176 364
1 5 14 39 104 215 423
7 12 k<] 91 195 38
10 9 26 &b 150 23
15 14 » 104 215 43
16 12 31 8 176 364
EEHHIPE T, Nm 20 12 31 85 176 364
25 14 » 104 215 423
30 14 » 104 215 423
" 35 12 k<] 91 195 358
40 12 31 8 176 364
50 14 » 104 215 423
70 12 k<] 91 195 38
] 100 9 % &6 ] 150 23
BAWHSBET, Nm 1,2 37100 AT E
EEHNBEN, rpm 7] 37100 4,500 4,000 3,600 3,000 2,500
TBABANEEE N, rpm 1,2 37100 8,000 6,000 6,000 4,800 3,600
o : 1 3710 <8 <8 <6 <6 <6
Ll AR 157100 <10 <10 <8 <s <s
JHESENE  Nm/arcmin 1,2 3100 0.8 22 7.2 14.5 .5
BEHEEAFa N 1,2 37100 300 &80 1,750 3,080 6,520
BN P N 1.2 3100 150 340 875 1,540 3,260
FREG hr 1.2 3100 20,000 *
g 1 310 =97 %
wE X 2 157100 =94 %
1 3710 0.7 17 3.6 82 18.2
=R e 2 157100 1.0 24 50 1.4 2.9
R e 1.8 37100 0CT90°C
e 1.2 3700 sHBE (CASTROLLMX)
P =2 37100 1P64
LR 1,2 37100 ES=v10]
IBE{E (n=3000rpm)  dB 1,2 31100 <68 <70 <7 <74 <75

g SREEREL

3 0.16 1284

4 0.16 aeo 3.31 122 34.&
1 5 0.16 0.59 328 12.10 3.2
7 0.16 0.59 3.27 1206 3.07
10 0.16 0.59 3.2 12.08 .02
15 0.16 0.59 328 12.10 u2%
16 0.16 0.60 331 122 .63
SEMER J, ke o’ b 0.16 0.59 328 12.10 u2%
% 0.16 0.59 328 12.10 %24
2 0 0.16 0.59 3.2 12.08 .02
3% 0.16 0.59 328 12.10 .2
4 0.16 0.59 3.2 12.08 %02
50 0.16 0.59 3.2 12.08 34,02
7 0.16 0.59 3.2 12.08 .02
100 0.16 0.59 3.2 1203 %02

1, HEEE (i=Nin Mowe) 2, Fopn FrELBIB100rpndd, (T MBI LLE,

HENIIESS (55) T2 EMBHA20, 000/Fs, AT (51) T2 EMBHHRIPEESH
S IRE B 2N NS T, UM N TR AR
AERPA_29



PL series — iEdER

&t i%/output

5/ input

4-H1x

L2

L3

L4

L5

L6

L8
Spedifications

N

L7 L8

aDlx
a2

|
’.
ol

al4

L3

PLO40
40
30F6
8G7
10h7(£12)
2616

93.5/107/120.5

24
43.5/57/70.5
26
4
26
2
16
]

46
34
M3(M4)iR10
M4ix6
M3i%E10
40
3
11.2

PLO60
60
50F6
14G7
14h7(=17)
40f6

116/131/145.5

25
56/71/85.5
35
6.5
315
3
25
25
70
52
M4(M5)ix10
M5i%8
M5i%15
60
5
16

[B{i: mm]

PLo0 20

80
70HB
19G7

20h7(<25)
60f6
143.5/162/180
33.5
70/88.5/106.5
40
10
415

M5(M6)iF15
M6iR12
M6i#20

80
6
225

202.5/230/257

82.5/110/137

115
110F6
24G7

25h7(<35)

80f6

65

55
T
66
4
40
5
145
100
M8iR19
M10iR16
M10iR22
130
8
28

160
110F6
28G7

40h7(<55)
130f6
254/313.5
75
92/151.5
87
8
65
5
70

145
145
M8ix20
M12i%20
M12i%25
165
12
43

EOHIRERERRRRY, BRREEPERANERRTEE.

AERPA_30



PF series — iZH#R

LRIR M RE S B R
R‘Lductron ratio ---
3 3? 43
4 176 364
1 5 14 39 104 215 423
7 12 k<] 91 195 38
10 9 26 &b 150 23
15 14 » 104 215 43
16 12 31 8 176 364
EEHHIPE T, Nm 20 12 31 85 176 364
25 14 » 104 215 423
30 14 » 104 215 423
" 35 12 k<] 91 195 358
40 12 31 8 176 364
50 14 » 104 215 423
70 12 k<] 91 195 38
] 100 9 % &6 ] 150 23
BAWHSBET, Nm 1,2 37100 AT E
EEHNBEN, rpm 7] 37100 4,500 4,000 3,600 3,000 2,500
TBABANEEE N, rpm 1,2 37100 8,000 6,000 6,000 4,800 3,600
o : 1 3710 <8 <8 <6 <6 <6
Ll AR 157100 <10 <10 <8 <s <s
JHESENE  Nm/arcmin 1,2 3100 0.8 22 7.2 14.5 .5
BEHEEAFa N 1,2 37100 300 &80 1,750 3,080 6,520
BN P N 1.2 3100 150 340 875 1,540 3,260
FREG hr 1.2 3100 20,000 *
g 1 310 =97 %
wE X 2 157100 =94 %
1 3710 0.7 17 3.6 82 18.2
=R e 2 157100 1.0 24 50 1.4 2.9
R e 1.8 37100 0CT90°C
e 1.2 3700 sHBE (CASTROLLMX)
P =2 37100 1P64
LR 1,2 37100 ES=v10]
IBE{E (n=3000rpm)  dB 1,2 31100 <68 <70 <7 <74 <75

—h 1
|Segments | Reduction ratio

3 0.16 1284

4 0.16 aeo 3.31 122 34.&
1 5 0.16 0.59 328 12.10 3.2
7 0.16 0.59 3.27 1206 3.07
10 0.16 0.59 3.2 12.08 .02
15 0.16 0.59 328 12.10 u2%
16 0.16 0.60 331 122 .63
SEMER J, ke o’ b 0.16 0.59 328 12.10 u2%
% 0.16 0.59 328 12.10 %24
2 0 0.16 0.59 3.2 12.08 .02
3% 0.16 0.59 328 12.10 .2
4 0.16 0.59 3.2 12.08 %02
50 0.16 0.59 3.2 12.08 34,02
7 0.16 0.59 3.2 12.08 .02
100 0.16 0.59 3.2 1203 %02

1, HEEE (i=Nin Mowe) 2, Fopn FrELBIB100rpndd, (T MBI LLE,

FEMESE (S5) TZiEMSMHA20, 000/hAF, BARESE (31) FT2EAFHRIFEES%
FEIRESEXRATNE T, BHATHRAE
AERPA_31



PF series — iEdER

EitH %/ output & \i%/ i nput
L5" 19, 16 A-0E
s |
“ g
%%I-———-fi@—%— —18 § & 1
L]
L1 L2 B 1.3
L
[B{i: mm]
PLo
60 80 115 160
30F6 50F6 70H6 110F6 110F6
8G7 14G7 19G7 24G7 28G7
10h7(£12) 14h7(<17) 20h7(<25) 25h7(<35) 40h7(<55)
2616 50f6 80f6 110f6 130f6
93.51107/120.5 116/131/145.5  143.5/162/180  202.5/230/257 254/313.5
24 25 335 65 75
L2 43.5/57/70.5 56/71/85.5 70/88.5/106.5  82.5/110/137 92/151.5
L3 26 31 40 55 87
L4 4 6.5 10 7 8
L5 26 315 415 66 66
L6 2 3 3 4 5
L7 16 25 40 70
35 25 4 5 5
Higs L9 6 8 10 15 15
Soaciicuin ct 46 70 90 145 145
c2 34 70 100 100 200
H1 M3(M4)R10  M4(M5)R10 M5(M6)iR15 M8iR19 M8iR20
H2 35387 5587 6.5 8 5L 13,587
H3 M3iR10 M53R15 MBiR20 M103§22 M12iR25
E 40 60 80 130 165
45 60 90 120 175
3 5 6 8 12
11.2 16 225 28 43

ROHIREREERIRRY, BYRIEEPERNERRTEE.

AERPA_32



_4}%% (ASSEMBLY)

[ 28t &% a9 E8 ASSEMBLY PROCEDURE

BEFBTRERRSIER, HRUTEQETRE. ARSENRTSTSR, REENERS, FLRETESRESERLN,
B e—EEERETEREENSIE.

IF A CUSTOMER PERSONALLY ASSEMBLES THE SERVO MOTOR AND REDUCER PLEASE USE THE FOLLOWING TIP. THE REDUCER FLANGE TO
WHICH THE SERVO MOTOR |S ATTACHED HAS DIFFERENT DIMENSIONS BASED ON THE MOTOR SPECIFIED. THEREFORE, SSSEMBLY MAY BE
IMPOSSIBLE FOR SOME MOTOR. MAKE SURE THE CORRECT MOTOR 1S SPECIFIED BEFORE ORDERING THE REDUCER.

4. REMPBFIE SPEC. IN CASE OF ASSEMBLING A MOTOR WITHOUT KEY

OEUTRE20R, SEEEAE, (EEREERIRNILYE. FNEIE R e B,
TAKE OFF THE RUBBER CAP, TURN THE INPUT SHAFT,AND MATCH THE HEAD OF THE BOLT TO THE RUBBER CAP.MAKE SURE THAT THE SET BOLT IS LODSENED.

2 B HEWFRMIEAG LS GHERFZEEHIBENEN)  BRESIEFERREMAEN.

GRADUALLY PUT THE MOTOR SHAFT INTO THE INPUT SHAFT(ENSURE THAT IT IS SMOOTHLY PUT IN WITHOUT JAM.)BE CAREFUL NOT TO BE INSERTED WITH THE MOTOR TILTED.

O i BIEEEAEEM £, FEEENAGERIRIRIESR o mE
ATTACH THE MOTOR TO THE REDUCER AND FASTEN THE BOLT WITH DESIGNATED FASTENING TOROUE. TABLE 1.

@ERBERFEIR, HEENRERRAMNEEREER. mR2
FASTEN THE SET BOLT OF THE INPUT SHAFT WITH DESIGNATED FASTENING TORGUE USING TORQUE WRENGH, ETC. TABLE 2.

G ELIREE. ZETMR.
PUTON A RUBBER CAP. IT 1S THE END OF ASEMBLING.

> PL/PF RIIREE —f ;
PL/PF SERIES SCHEMATIC DIAGRAM %J l'
| ]
| il
]

)
,\

F1 TABLE1 T 1% [E 242 42MOTOR COMBINATION BOLT

Mg 19.6 200

M10 37.2 400
M2 68. 6 700
M6 168 1650

21 TABLE2 EE S22 COMBINATION BOLT
M3 1.5 15
M4 s 35
M5 7.1 7
M6 12 120
M8 30 300
Mio 60 612

HREXDENRNTE, ANk LAEREE—ERE. ERE0EEI.
YOU CAN ASSEMELE THE MOTOR WITH KEYWAY LIKE ABOVE WHEN TAKE OFF THE KEY, THERE IS NO RISK OF DISLOGATION,

AERPA_33



Z4E (ASSEMBLY)

@ RELELGEEEEIE SPEC. IN CASE OF ASSEMBLING A MOTOR WITH KEY

O BTREE, SEhEAGE, ERRRASRBENILYME.
TAKE OFF THE RUBBER CAP, TURN THE INPUT SHAFT, AND MATCH THE HEAD OF THE BOLT TO THE HOLE OF THE RUBBER CAP.

@Eﬁ%ﬁbﬁsim@%ﬁ%ﬁd (ZHLERS) |, FHIGREREE EEFREAG L GHERTZEERIEBISMOBN) B IBETERRE
COAT CARBON FORMATION INBIBITORS (HOLYBDENUN DIOKIDE ETC.)ONTO THE MOTOR SHAFT,MATCH THE KEY TO THE KEY SLOT, AND GRADUALLY

@ HBIEHERTFF T REEEOHERIZRIFER. mx
COMBINE THE MOTOR WITH THE REDUCER AND FASTEN WITH THE DESIGNATED FASTENING BOLT. TABLET

@ ERBEEFFLREREENRBEREANMOEERREDR, FHIRCHER. R3
FOR SET BOLT OF THE INPUT SHAFT,USING TORQUE WRENCH WITH THE DESIGNATED FASTENING TORQUE WITH THE KEY FIRMLY PRESSED. TABLE 3

® B EREE. RETH
PUTON A RUBBER GAP.THE IS THE END.

off

%3 TABLE3

VI HHEEFASTENING TORQUE

ElFE4S4E COMBINATION BOLT

©

= -]

DimiR# A% REDUCER ASSEMBLY

MR R R A LR, FERRRKEFIERRERNSE, EREERFSTARIEENHEMREHAER, mF
JOINTING WITH REDUCERIN CASE OF JOINTING A REDUCER WITH THE DEVICE,MAKE SURE THAT THE COMBINING SIGE IS PLANE WITHOUT
INCONS | STENCY, AND WHEN ASSEMBLE REDUCER OUTO EQUIPMENT, ENSURING ASSEMBLY SURFACE SMOOTH AND WITHOUT BURR. TABLE 4.

SEFASTENING TORQUE

4 TABLE4 &£ #2423 REDUCERCOMB INAT 1ON BOLT

[ e

Ms 5.8 &0

Mé 9.8 100
Ma 19.6 200
M10 39.2 400
M12 68. 6 700
Mia 168 1650

[ 48448 CONNECTION TO THE OUTPUT SHAFT

SETEIE: CAUTIONS
@ FEHEE LIRS, BREE, SR L EEMmA A EEET.

WHEN ASSEMBLE A COUPLING, PULLLEY, ETC. ONTO THE OUTPUT SHAFT,MAKE SURE THAT EXCESSIVE AXIAL LOAD NOT BE GIVEN TO THE OUTPUT SHAFT.
@ FFAERESARHEN, LR EHRSULEMNEEZ IS,
IN GASE OF STRONGLY HITTING THE SHAFT WITH A HAMMER, THE SHAFT INLET OR THE INSIDE OF THE REDUCER MAY BE DAMAGED, THEREFORE IT SHALL BE PROHIBITED

@ ZEMBERFOMAEENERATE, THEIFERNARN, ZREHHERSER.
IF THE SHAFT OR KEY OF A COUPLING ASSEMBLED IS LOOSED, IT MAY CAUSE CARBONIZATION, SO BE CAREFUL WHTN ASSEMBLING.

@ REFRE RS, MEMAERIBEREEEEE.
FOR ASSMBLING OF A COUPLING,FIX THE KEY WITH A SET BOLT.
® IEIERFAH TR 7 AL o

PLEASE ADJUST SHAFT CENTRE CAREFULLY IN CONNECT ING.

L

AERPA_34



B H R/ (3 N ¥R % 3000RPMEF)
MOTOR MATCHING TABLE (WHEN INPUT SPEED IS 3000RPM)

EiE 75| EIEINZEE MOTOR POWER (W)
MOTOR SERIES
s | tom [ oo [ aom [ 75w |
MSM T
MSMA T
WFBHEEE (B0 MSMD 1
PANASONIC MUMA FAESNOUT OF STANDARD  BEESNOUT OF STANDARD T1
MBMK T1 HESNUT OF STRDARD T1
MUMS FEESNOUT OF STANDARD
SGM T2
SGMAH T2
) 21T SGMAS 12
YASKAWA ELECTRIC SJME FATENO SUBJECT 12
SGMJV T3
SGMAV T3
HC—KF T3
HC-KFS T3
HC-MF T3
— HC-MFS 13
m?sua@?ﬁ:%}mlc HASHE ¥
HC-PQ T3 FoATENO SUBJECT
HC-KQ T3 FERTENO SUBJECT
HF—KP 13
HF-MP T3
R88BN-U T2
ERtEEE (k) RBEM-W T2
OMROM R7M-A T2
R7M-Z 12
ErERpEE G GYSHh 12
FUJI ELECTRIC SYSTENS
USSR D P30B T3 12
SANYO DENKI Q1 T3 FEAESNOUT OF STANDARD
(k) B BERKEYENCE My 13 FHESNOUT OF STANDARD
VLBSV-Z%% EESNOUT OF STANDARD T3
RETBAR  viBSv-zA% SEESNUT OF STANDARD 13
VLBST EL4ESNOUT OF STANDARD 13 ESESMOUT OF STANDARD
SR | A G TBL-i %% 13 FATENO SUBJECT
TAWAGANA, SEIKI TBL=i | 1%% T3 FESNOUT OF STANDARD
= NAS0 T
i NA7O0%% 13 FAENO SUBJECT
NABO%% T3 FAESMOUT OF STANDARD
= TS%% 13 FOEESMOUT OF STANDARD
FR=T8 el SS%% T3 FCHESNOUT OF STANDARD
(0 B AR
HITACHI INDUSTRIAL ADMA T3 HfESNOUT OF STANDARD
EQUIPVENT SYSTEMS
=R SA3 T1
MIKI PULLEY

E—: RAREMRTTIER, RESHERHNEEAREESTE.
E. BiEEADIE, SR EEISRITE.

EZ: EREE GERRPEGHRIE) BEELnES, HRRHESASHEER, EXNEEHEREBRARKERFHES, B
t, BEAW, (ZHMEBER)

EP. BENERESRITER, FRALTBE.

NOTE 1:1F AN OIL-SEAL IS NOT PRESENT AND THE SIZE IS DIFFERENT, ATTACHMENT OF THE OIL-SEAL MAY CORRESPOND TO SPECIA ORDER IN

SOME CASES,

NOTE 2:IF THE MOTOR SHAFT IS OF D-CUT AND TAPER TYPE, IS CORRESPONDS TO A SPECIAL ORDER.

NOTE 3:NOTE THAT THRUST POWER ARSING OUT OF INSTANTANEOUS MAX. OUTPUT TORQUE BU THE COMBINATION OF MOTOR CAPACTITH(MOTOR OF
THE MOTOR SERIES TABLE)AND REDUCTION RATIO MAY EXCEED PERMISSIBLE THRUST POWER OF THE SERVO MOTOR. SEE THE THRUST LOAD TABLE.
NOTE 4:0UT-OF-STANDARD MAY CORRESPOND TO A SPECIAL ORDER IN SOME CASES. FOR DETAILS, CONTACT US.

AERPA_35



BE ¥ R/ (E \§51R A3000RPMEF)
MOTOR MATCHING TABLE (WHEN INPUT SPEED 1S 3000RPM)

EiE 25| FEIETHE MOTOR POWER (W)
MOTOR SERIES
WTFEEES (P MSM
PANASON | C MSMA 1
SGMS T2 FrIE00 SBET T2 FEA0 IBET T2 Fog0asEr T2
(%) =JIEH - FHIE0 Fig0
YASKAWA ELECTRIC ] 12 FRSI0SBET T2 sBET 12 SBET T2
SGMSS T2 FofgoaREr T2 Fofgoasr T2
=R o6 HC-RF T3 FoATENO SUBJECT T3 FoRTENO SUBJECT T3
WITSUBISH! WLECTRIC HC-RFS T3 FeATENO SUBJECT T3 FLFTENO SUBJECT T3
HC-RP T3 FEXHENO SUBJECT T3 FFFENO SUBJECT T3
R () R88M-U T2 FMSI0SBET T2 FNSI08BEY T2 jouswoseEr T2
OMROM R88M-W T2 FoE0 SRET T2 FHEI0 BAT 12 FEN0 SRET T2
L RARRESH R avs T3 FRSI0SBET T2 FRISNOSBET T2 FS08BET T2

FUJI BLECTRIC SYSTEMS
0 THAED|SiE ey E 75 EAE STANDARD COMPATIBILITY WITH THE FOLLWING MOTOR SERIES

EIEINZE MOTOR POWER (W)

A E MR EXL!
MOTOR MANLFACTURER MOTUR cERIF‘-}
1000w | 1500w | 2000w | 2500w | 3000w | 35008 | 4000W 5000W
= HC-SFS%%
",rﬁﬁ?%m — 500W, 1000W, 1500W, 2000W, 3500W
SGP
B )11
b SGMPH 100W, 200W, 400W, 750W, 15000
SGMPS
WTESER b
PA?IE&%ONIC MGMA 100W, 200W, 400W
ERSEE () Re8M-HP 100W, 200W, 400W, 750, 15000
iyl R7M-AP 100W, 200W, 400W, 750W
s 6Ys 100M, 200W, 400W
ﬁiﬁéﬁﬁ BiSH% 200W, 400W, 500W, 750W, 1200W

E— RERHRRTAER, REMEHHNSEENEESIS.

o BiEEADHM, BHEERIRIATE. :

= EBEDE GAMAEPHGNEE) ARLNES, HRRME ARG, EOunNaNeRBEARSESTME, B
BEIE, (ZRuMOBETER)

o BT e B ATE.

NOTE 1:1F AN OIL-SEAL 1S NOT PRESENT AND THE SIZE |S DIFFERENT, ATTACHMENT OF THE OIL-SEAL MAY CORRESPOND TO SPECIA ORDER IN

SOME CASES,

NOTE 2:I1F THE MOTOR SHAFT 13 OF D-CUT AND TAPER TYPE, |S CORRESPONDS TO A SPECIAL ORDER.

NOTE 3:NOTE THAT THRUST POWER ARSING OUT OF INSTANTANEOUS MAX. OUTPUT TORQUE BU THE COMBINATION OF MOTOR CAPACTITH(MOTOR OF

THE MOTOR SERIES TABLE)AND REDUCTION RATIO MAY EXCEED PERMISSIBLE THRUST POWER OF THE SERVO MOTOR. SEE THE THRUST LOAD TABLE.

NOTE 4:0UT-OF-STANDARD MAY CORRESPOND TO A SPECIAL ORDER IN SOME CASES. FOR DETAILS, CONTACT US.

¥ B EREREMBERS, ARRBEBBEEATERSERR. REFXFSAELF.

OUR GEARBOX CAN MATCH TO SERVO MOTOR OF FOLLOWINGS MANUFACTURERS, INCLUDING ABOVES. PLEASE ASK US ABOUT THE ASSEMBLY.

MR (B AABE= I chid Bl % iy - HE
l%“?‘@ﬁ%ﬁ (3R AV {E & 757) PERMISSIBLE RADIAL LOAD(TO REDUCER)
T 1R f R R B ch R BB LML B R, ST AR M.
— |IF RADIAL LOAD IS OUT OF THE CENTER OF THE OQUTPUT SHAFT, CALCULATE
I USING THE FOLLOWING EQUATIONS AND POSITIVE NUMBERS:
Px={K/ (K+X) } xP
Px P [ X=Y-Q/2
s | ~ P: 2 EF{% @& 75 (N) PERMISS IBLE RADIAL LOAD (N)
—— Q: E=2IPOSITIVE NUMBER
Q f K: % 8{POSITIVE NUMBER
o | X: By BA i ¥ P A (M)

—I; LOAD POINT DISPLACEMENT DISTANGE (MM)
Y: & faES (MM) LOAD POINT (MM)

AERPA_36



#ZE REMARKS




